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3. Upload Applications Practice to CTLS

DeltaMath Trig Review and Quiz opens O
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10. Find the missing side. Round to the nearest
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11.Find the requested angle. Round to the nearest

2296

whole number.
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12.Find the requested angle. Round to the nearest
whole number.
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15.8in(52) = Cos( 3% )
16.Cos(32) =Sin (29 )
17. 1f Tan(6) = = then

6
Tan(90-6) = /8
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In the above triangle, Name two complementary angles.

/B wnd LA
Jhe Bine of an angle iy alwalyy equak te

So...

%

Sin(A) = Cos(™—_ )
And Cos(A)= Sin{&] \ Q
ol
SMJMW%WMWQW@MWSM; of each sthen,

So..if the TOn{AJ=§ then the TCIFI(B]:éQ
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Example: If you are given an Angle: 1. Cos(22) = Sin (@)
(™ Goenpluenani

Sin(B)=Cos(%0-0)
Sin(75)=Cos( ') —07“’5 ST AUTa ¢®
Example: If you are given a ratio. 2. Given: A and B are complementary. And
Given: A and B are complementary. And Cos(B)=3 al
-Sin(B)=2 a \ (0} T
Find: 3@ 3 S Find: 8
rSin(A) = A Sin(A)=_ A7/

9 C \=
Cos(A)= 5 (o= | COS(A)=I6 a7

3¢ L
r Cos(B) = 5 l; - Sin(B)=_"172

3 r L/‘l ‘6/5
Tan(A) = Yy yts S TanB)=

q] A %15
Tan (B) = 3 a’*1b 5 25 1an(a)=
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Protocol for Attempting Problems

1. Praw a picture
2. Highlight informatiow
3. Choose a formula and set up

4. Solve FOR THE QUESTION (vot always x)
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Geometry 2- Similarity &Right Triangle Trigonometry Notes & Practice
Name: Pate:

Trig Application Problems

Angle of Elevation & Angle of Depression

=~

. ' 1
NI R VAW RILW])

angle of depression

R\
O;\ C,\g

angle of elevation

- NI VAW NI ]|

1. Classify each angle as an angle of elevation or angle of
depression:

LG depression £ 7 elevation
/P depression £A Elevation

2. Over 2 wiles (Worizontal), a road rices 20D feet (vertical). what is the %ﬂe of elevation
» .
to the vearest degree? use __\ g f)

+on(x) = 300 X =163 round +o nearest degree...
10560
x=2"
+an (—%DD J=x
10560

3. The avgle of depression from the top of a tower to a boulder on the ground is 28°. If the
ver is 25 meters high, how far from the base of the tower is +he boulder? Round +o the
=5t whole vumbzer,

25 25
+ = - =7
an(39) . X (28]

x*(tan(3®)) =25 X =231.9995
X =32fF.

Boulder
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Geometry 2- Similarity &Right Triangle Trigonometry Notes & Practice

ind the angle of elevation +o the +op of a tree for an observer who is 31.4 meters from the
ceeif e observer’'s eve is 1.9 meters above the ground and the tree is 23.2 meters +all,

o the vearest degree. _
25.2-19%=214

21.4
tan(x) = (mj X =3429 22.2m
o (E1) = x=24"
214

5. A 75 foot building casts an B2 foot shadow. What is the angle of depression from the +op of
the tower +o the ground? Round +o the wearest huwdredth,

+on(x)= ki

22
+an™ [EJ =X
D2 i

B2

b. A boatis sailing and spots a shipwreck 650 feet below the water. A diver jumps from +he
boat and swims A35 feet +o reach +he wreck. What is the angle of depression from +he
boat +o the shipwreck, +o the vearest degree?

_ 650
a35

LG50,
Ty

sin(x)

X =44°
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Geometry 2- Similarity &Right Triangle Trigonometry Notes & Practice

F. A5t tall bird watcher is standing 50 feet from the base of a large tree. The person
measures the angle of elevation +o 4 bird on top of a tree as T1.5°. How tall is the +ree?
Round o the nearest +enth,

Y
taw(1.5) =—
(#15) 50 1404 +5=x

50(tam(F1.5)) = Y 1544 =x X

y =149.4

®. A block slides down a 45° slope for a +otal of 2.8 meters. wWhat is the chgwge in +he height
of the block? Round to the nearest tenth,

. X
sin(45) = ——

=
2.8 %<in(45)=x X 2.6m
X =1.979
[r=2] 45

a. A projectile has an initial horizontal velocity of 5 meters per second and an initial vertical
velocity of 3 meters per second upwards. At what angle was the projectile fired, to +he

nearest degree? tan(x) = %

MHJI{EJ =X 2
X =30.963
x=231 5

10. A construction worker leans his ladder against a building making a G0° angle with +he groud.
If his ladder is 20 feet long, how far away is the base of the ladder from +he building +o +he
vearest tevth?

X
cos(@D) = —
20

20¢0s(CD) = x
X =10
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